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1. If two positive integers p and q can be

expressed as p = ab® and g = a®b where a


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HQyECRF2EJQj

and b are prime numbers, then the LCM(p,q)

IS:

A. ab

B. a’b?

C.a’b?

D. a3’

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HQyECRF2EJQj

2.7 x 11 x 13 x 15+ 15is a:

A. Composite number

B. Whole number

C. Prime number

D. (a) and (b) both

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_y3UROfkDrcbr

3.LCM of (2° x 3 x 5) and (2* x 5 x 7) is

A.40
B. 560
C. 1120

D. 1680

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YT04OFE80oiJ

4.1.23451326... is

A. an integer

B. an irrational number

C. arational number

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fXdpI2QJfhdZ

5. A decimal number 0. 8 can be expressed in

its simplest form as

o Watch Video Solution

6. Product of two numbers is 18144 and their

HCF is 6, thn their LCM is

o Watch Video Solution



https://dl.doubtnut.com/l/_7eGCfrl7yHXR
https://dl.doubtnut.com/l/_OSLZvL14TYNt

7. The decimal expression of the rational
23

5 will terminate after decimal
2 X 5

number

place(s).

° Watch Video Solution

8. If a and b are positive integers, then

HCF(a,b) x LCM(a,b)

ab

o Watch Video Solution



https://dl.doubtnut.com/l/_xkMkZfRQxdDi
https://dl.doubtnut.com/l/_r4fceGmgY59n

0. is the H.C.F. of two consecutive

even numbers.

° Watch Video Solution

10. If two positive integers p and q can be
expressed as p = a’b® and ¢ = a*b a,b being

prime numbers, hen LCM(p,q) is

° Watch Video Solution



https://dl.doubtnut.com/l/_9zVnvvfE8AEQ
https://dl.doubtnut.com/l/_vcT2XI8KeCxx

1. The LCM of two numbers is 182 and their
HCF is 13. If one of the numbers is 26, find the

other.

o Watch Video Solution

12. Given that HCF(135,225)=45, find the LCM

(135,225).

o Watch Video Solution



https://dl.doubtnut.com/l/_bdHQrz0D6Kz0
https://dl.doubtnut.com/l/_w56QAxw76YaX

13. After how many decimal places will the

decimal representation of the rational number
229

— terminate?
22 x 57

° Watch Video Solution

14. Are the smallest prime and the smallest

composite numbers co-prime? Justify.

o Watch Video Solution



https://dl.doubtnut.com/l/_XE79XB0QQAlS
https://dl.doubtnut.com/l/_Kc7jVk1jKzZ3

15. The HCF of two numbers a and b is 5 and

their LCM is 200. Find the product ab.

° Watch Video Solution

16. Can two numbers have 18 as their HCF and

380 as their LCM? Give reasons.

o Watch Video Solution

17. Find a rational number between /2and /7



https://dl.doubtnut.com/l/_QjrtBfTntpmf
https://dl.doubtnut.com/l/_UTGMDJm5lIAK
https://dl.doubtnut.com/l/_hRPEI2fVbXVk

o Watch Video Solution

18. Write the number of zeroes in the end of a

number whose prime factorisation s

22 % 53 x 3% x 17.

o Watch Video Solution

19. If the HCF of (336,54)=6, find the

LCM(336,54).

o Watch Video Solution



https://dl.doubtnut.com/l/_hRPEI2fVbXVk
https://dl.doubtnut.com/l/_sYenxOMs034l
https://dl.doubtnut.com/l/_2oozKP2OmwlA

20. Find a rational number between +/2and

J3

o Watch Video Solution

21. Write one rational and one irrational

number lying between 0.25 and 0.32

o Watch Video Solution



https://dl.doubtnut.com/l/_2oozKP2OmwlA
https://dl.doubtnut.com/l/_aBIJRYGER0ut
https://dl.doubtnut.com/l/_3v9OwPM8Wch4

22. Write the exponent of 3 in the prime

factorization of 144.

o Watch Video Solution

23. Check whether 12" can end with the digit O

for any natural number n.

o Watch Video Solution



https://dl.doubtnut.com/l/_gbQQAhOduccx
https://dl.doubtnut.com/l/_U9VVfrBsNg1C

24. The product of the LCM and HCF of two
natural numbers is 24. The difference of two

numbers is 2. Find the numbers.

o Watch Video Solution

25. Two alaram clocks ring their alarms at
regular intervals of 72 seconds and 50 seconds
if they first beep together at 12 noon, at what

time will they beep again for the first time?

o Watch Video Solution



https://dl.doubtnut.com/l/_xDNd79MNbVyI
https://dl.doubtnut.com/l/_iTDTpEMIVSvg

26. Find the HCF of 612 and 1314 using prime

factorisation.

o Watch Video Solution

27. Write the smallest number which is divisble

by both 306 and 657.

o Watch Video Solution



https://dl.doubtnut.com/l/_iTDTpEMIVSvg
https://dl.doubtnut.com/l/_Iv66j4NUUSLw
https://dl.doubtnut.com/l/_e87Oj9x3hc2v

28. A rational number in its decimal expansion
Is 327.7081. What can you say about the prime
factors of g, which this number is expressed in

the form 2? Give reasons.
q

o Watch Video Solution

29. In the adjoining factor tree, find the

numbers m and n.


https://dl.doubtnut.com/l/_6TbQjREuRMBx
https://dl.doubtnut.com/l/_yaXGdtHXD1hy

o Watch Video Solution



https://dl.doubtnut.com/l/_yaXGdtHXD1hy

30. Using prime factorisation method, find the

HCF and LCM of 210 and 175.

° Watch Video Solution

31. Prove that the number 4", n being a natural

number, can never end with the digit O.

o Watch Video Solution



https://dl.doubtnut.com/l/_gvNPyKuQwD0H
https://dl.doubtnut.com/l/_uOvd9tbA4Czi

32. Find the two numbers which on
multiplication with /360 gives a rational
number. Are these numbers rational or

irrational?

° Watch Video Solution

33. Prove that /5 is an irrational number.

° Watch Video Solution



https://dl.doubtnut.com/l/_gQK7v67dUY5b
https://dl.doubtnut.com/l/_mtAUZj9PF6UL

34. Prove that 2+ 5,/3 is an irrational

number, given that /3 is an irrational number.

° Watch Video Solution

35. Prove that /2 is an irrational number.

° Watch Video Solution

36. Find HCF and LCM of 404 and 96 and verify

that HC'F' x LCM =Product of the two given


https://dl.doubtnut.com/l/_v9swfgGZiE0i
https://dl.doubtnut.com/l/_zhvONZ44Md6J
https://dl.doubtnut.com/l/_m7OnuSEbYPJN

numbers.

o Watch Video Solution

37. Write the denominator of rational number

257
in the form 2™ x 5", where m,n are non-

5000
negative integers.  Then,  write its

decimalexpansion without actual division.

° Watch Video Solution



https://dl.doubtnut.com/l/_m7OnuSEbYPJN
https://dl.doubtnut.com/l/_UowD5gXUm7wN

38. Three bells toll at intervals of 12 minutes,
15minutes and 18minutes respectively, if they
start tolling together, after what time will hey

next toll together?

o Watch Video Solution

39. Find if 13250 will have terminating or
non-terminating (repeating) decimal

expansion. Give reason for your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_MkH9Jldi3rim
https://dl.doubtnut.com/l/_JS89Lf097KzM

40. On a morning walk, three people step off
together and their steps measure 40cm, 42 cm
and 45 cm respectively. What is the minimum
distance each should walk, so that each can

covers the same distance in complete steps?

o Watch Video Solution

41. A merchant has 120 litres and 180 liters of

two kinds of oil. He wants to sell oil by filling


https://dl.doubtnut.com/l/_JS89Lf097KzM
https://dl.doubtnut.com/l/_eb15DVJQWnSL
https://dl.doubtnut.com/l/_DkuQTrPAPWGb

the two kinds of oil in this of equal volumes.

What is the greatest volume of such a tin?

° Watch Video Solution

42. Using prime factorisation, find HCF and
LCM of 18,45 and 60. Check if HCF x LCM-=

product of the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_DkuQTrPAPWGb
https://dl.doubtnut.com/l/_8K2enyfA0wvL

43. Show that the square of any positive odd
integer is of the form 8m+1, for some integer

m.

o Watch Video Solution

44. Prove that ,/p + ,/q is irrational, where p

and g are primes.

o Watch Video Solution



https://dl.doubtnut.com/l/_2GMRy5bnoQ1R
https://dl.doubtnut.com/l/_WZdHQNJTklne

45. Prove that 3 + 2,/5 is irrational number.

o Watch Video Solution

46. Show that the square of any positive
integer cannot be of the form (5q+2) or (5g+3)

for any integer q.

o Watch Video Solution



https://dl.doubtnut.com/l/_cxc09iVdMCss
https://dl.doubtnut.com/l/_wswvyrCfBcy3

47. Prove that one of every three consecutie

positive integers is divisble by 3.

o Watch Video Solution

48. Prove that \/ﬁ is not a rational number, if n

is not perfect square.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y6Oul7kRmWgU
https://dl.doubtnut.com/l/_296DYV0lx3ZG

49. The decimal expansions of some real
numbers are given below. In each case, decide
whether they are rational or not. If they are
rational, write it in the form % What can you

say about the prime factors of q?

0.140140014000140000....

o Watch Video Solution

50. The decimal expansions of some real

numbers are given below. In each case, decide


https://dl.doubtnut.com/l/_mjN95x5FGFXh
https://dl.doubtnut.com/l/_vjFLcQlOHFzd

whether they are rational or not. If they are

rational, write it in the form 2. What can you
q
say about the prime factors of q?0. 16

o Watch Video Solution



https://dl.doubtnut.com/l/_vjFLcQlOHFzd

